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er beginning with
January

r Day
lentine’s day
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ccadilly Circus




2 Lake District famous
for?




ith the




ntry in the UK has the
ionh of a dragon on its flag?



‘the name of the only
ho was beheaded?

ror




he “Architect of London”.
wn creations are St.Paul’s
London and the Sheldonian



11 Ppiadc 11l bcigiuiii. inn 1ot o
battle was fought there.
rmy led by Wellington and
army defeated Napoleon. He
icate and was sent to St.
ena Island.
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Parliament and
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iggest state of the



at is Silicon Valley?

egion is home to products for cookware

ustry, particularly bakeware and kitchen

ils.

D) The region is home to ingredients for hair
conditioners, shampoos, and hair gel products.



ci?)rl was built on the banks on
the Potomac river:







ational symbol of
lerica?
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ich of these books was NOT
ritten by Jack London?
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ose the correct form

e intelligent and well-educated people.
chief B) editor-in-chiefs

forgets-me-not
forget-me-nots
sed many new and important ... in my report.
'datum B) data C) datas

t two ... workers took part in the strike.
housandes B) thousands C) thousand

' 5) This ... is poorly studied.

' A) phenomenon B) phenomenons C) phenomena

rget-me-not



ose the correct form

has B) have C
rds ... an interesting game.
) are B) is C) were
days ... long enough for a good holiday.
sn't B) aren't C) weren't
0) She had a wonderful three-... holiday in July.
A) week B) weekes C) weeks



‘the correct answer

sked ... read the next paragraph.

r that she C) that she

. you're trying to say to me.

that B) what ich

walk until I was nearly two.

) couldn't B) wasn't able C) didn't able

randfather ... a policeman in London .

sed to be B) used to being C) is used to be

) Susan is going ... holiday next Christmas.
A)onB)ataC)toa




se the correct answer
xpected ... between 9.00 and 11.00

iving C) to arrive

he studied ha didn't pass the exam.

) However B) Even though C) Despite

e truth”, his mother said.

Tell me B) Say to me C) Tell to me

usually takes a sandwich to school ... she gets
\

A) in case B) although C) however

10) Look out! That stack of plates ... any moment
now.

A) will fall B) is going to fall C) is falling
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1. Comep XnT BOIIPOCHI I10
30CTPaHOBETUECKIM, ICTOPUYECKIM,
YecKM ¥ TpaMMaTYecKM 3HaHMSM
XCH.



